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All Candidates' performance across questions

Question Title ! Mean ) E Max gark FF Attempt %

1 3470 6.7 1.6 10 66.9 100

GCE GEOGRAPHY 1204 01

Question

0 10 20 30 40 50 60 70 80 90 100
Facility Factor %



Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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G4 2015 Assessment Objectives Grid

Question AOl1l AO2 AO3 Total
Knowledge & Application Skills
Understanding
1 4 3 3 10
(concepts of (interpreting & (analyse and
place, space and unfamiliar synthesise
diversity) context) geographical
information)
2 3 4 3 10
(select human (application in (carry out
processes unfamiliar research and use
underpinning contexts) of methods)
concepts,
examples)
3 3 3 4 10
(people- (analysis and (research and
environment unfamiliar communication)
interactions) contexts)
4 7 11 7 25
(extend (consider new (synthesise
geographical ideas and information,
ideas, concepts developments, reach
and processes) evaluation) conclusions, and
communicate
findings)
5 7 11 7 25
(extend (evaluation of (reach
geographical viewpoints, conclusions and
ideas, concepts extend communicate
and processes) geographical findings)
ideas, concepts
and processes)
Total 24 32 24 80
(30%) (40%) (30%) (100%)






GCE Geography - G4
Mark Scheme

Summer 2015

If a candidate answers in a way that is not anticipated by the mark scheme, but has
an acceptable answer to the question set, please use the generic mark scheme on
pages 3 and 4 to determine an appropriate mark. If in any doubt, please consult your
team leader.

For all questions, the following qualifying words are available:

Accomplished
Competent
Intermediate (+/-)
Basic
Beginnings

These can be elaborated further as:

Accomplished: a clear answer, covering almost all aspects of the question, with
relatively minor, if any, faults.

Competent: an answer addressing many aspects of the question, but with some
clear shortcomings.

Intermediate: an answer to the question, but mainly simple with at least one (lower-)
or more (upper+) points of better quality.

Basic: an answer, but all very simple or superficial or brief or only very partial in
coverage of what could be expected.

Beginnings: not really an answer to the question, but may contain occasional
relevant material.

Further annotations required about elements specific to each question are noted in
the indicative content that follows.





Q.1

SECTION A

Describe the global pattern of food consumption. [10]

Annotations specific to this question are:

Areas of high consumption and low consumption
Comment on intermediate consumption
Evidence in support

Figures 1, 4, 5 and 6 on pages 4 to 6 are the most immediate sources, but Figures
12 and 13 from page 9 may be helpful in fuller answers.

Candidates may answer in terms of calorie intake, and may go further to show
differences in dietary sources of food, and describe (in)adequacy of what is
consumed. Closely related points related to health, especially starvation, malnutrition
and obesity may be made relevant but do not over-credit answers that make that the
central focus.

Better answers will get beyond extremes and will consider the intermediate and
widespread levels of consumption. Good answers will provide support that is either
detailed in content or location.

Level 3 Good descriptions that give a global pattern and include highs,
(8-10 marks) | lows and some intermediate levels. Information going beyond
calorie intake alone will be given. Evidence will be given in support
of almost all points made.

Level 2 Answers that deal with just the extremes will fall in this range.
(4-7 marks) Those with some comment on intermediate levels may be towards
the upper part of this range but not go beyond calorie intake.
Pattern may be evident but not be fully global. Some supporting
evidence is given.

Level 1 Answers may present some potentially relevant material about
(1-3 marks) food consumption, but do not bring out global pattern clearly and
lack overall clarity or are ultra simplistic. Little, if any, evidence
given.

0 marks The answer is not worthy of credit.
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Sticky Note

Main pattern for meat and calories.



Sticky Note

Drifting now to explanation. Command word is describe.



Sticky Note

A brief answer than does not include enough detail 5/10.
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Sticky Note

Main pattern clearly noted and supported.



Sticky Note

Some reference to pattern other than obvious.



Sticky Note

Back to main pattern.



Sticky Note

A sound answer - but lacking depth for L3. 7/10
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Sticky Note

High calorie intake.



Sticky Note

Low calorie intake.



Sticky Note

Some reference to anomalous result.



Sticky Note

Wider than calories only.
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Sticky Note

Main pattern again - but with a different statistic.



Sticky Note

A good answer with (i) main pattern noted and supported for more than just calorie intake. (ii) reference made to patterns other than obvious. Mark is 9/10










Answer all questions.

SECTION A

In this section you may use information from the Resource Folder and your own research.

[0][1] Describe the global pattern of food consumption. [10]
(approximately 13 minutes)
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G4 2015 Assessment Objectives Grid

Question AOl1l AO2 AO3 Total
Knowledge & Application Skills
Understanding
1 4 3 3 10
(concepts of (interpreting & (analyse and
place, space and unfamiliar synthesise
diversity) context) geographical
information)
2 3 4 3 10
(select human (application in (carry out
processes unfamiliar research and use
underpinning contexts) of methods)
concepts,
examples)
3 3 3 4 10
(people- (analysis and (research and
environment unfamiliar communication)
interactions) contexts)
4 7 11 7 25
(extend (consider new (synthesise
geographical ideas and information,
ideas, concepts developments, reach
and processes) evaluation) conclusions, and
communicate
findings)
5 7 11 7 25
(extend (evaluation of (reach
geographical viewpoints, conclusions and
ideas, concepts extend communicate
and processes) geographical findings)
ideas, concepts
and processes)
Total 24 32 24 80
(30%) (40%) (30%) (100%)






GCE Geography - G4
Mark Scheme

Summer 2015

If a candidate answers in a way that is not anticipated by the mark scheme, but has
an acceptable answer to the question set, please use the generic mark scheme on
pages 3 and 4 to determine an appropriate mark. If in any doubt, please consult your
team leader.

For all questions, the following qualifying words are available:

Accomplished
Competent
Intermediate (+/-)
Basic
Beginnings

These can be elaborated further as:

Accomplished: a clear answer, covering almost all aspects of the question, with
relatively minor, if any, faults.

Competent: an answer addressing many aspects of the question, but with some
clear shortcomings.

Intermediate: an answer to the question, but mainly simple with at least one (lower-)
or more (upper+) points of better quality.

Basic: an answer, but all very simple or superficial or brief or only very partial in
coverage of what could be expected.

Beginnings: not really an answer to the question, but may contain occasional
relevant material.

Further annotations required about elements specific to each question are noted in
the indicative content that follows.





Q.2

Outline how human activities can influence the demand for water. [10]

Annotations specific to this question are:
Knowledge of activities needing water
Outline of their influence of demand
Evidence in support

Candidates can go directly to individual resources to help answer the question, as
with Figure 22 on page 15, but are more likely to have to link two or more resources
together to develop an outline. For example, Figure 2 grain and meat information on
page 4 could be linked to Figure 4 showing increases in meat consumption on page
5.

Figures 1, 3, 10, 11, 14, 17 to 22 all have ways of pairing up to reveal influences and
provide good evidence.

Good answers will focus on how there is an influence. More modest answers will
name them, but may leave the reader to work out how the influence is made. Good
answers will have support from process or place.

Level 3 A clear outline of ‘how’ two or more human activities influence
(8-10 marks) | water demand will be given. Evidence is given to support most
points made.

Either how one human activity influences the demand for water is

Level 2 made clear but may not introduce a second or give another/others
(4-7 marks) and with the *how’ unclear. Alternatively, two or more may be
suggested but ‘how’ is incomplete for all. Some evidence will be
given in support.

One or more activities may be given but the link to demand for

(1_%36?;&3) water is never clear or left for the reader to work out. Little, if any,
evidence given.
0 marks The answer is not worthy of credit.
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Sticky Note

This is not much more than a list of uses. Very little outlining is made. Therefore answer does not get out of level 1. 3/10



Sticky Note

Vague



Sticky Note

Some brief comments on agriculture.
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Sticky Note

Answer starts very well - however this quality is not maintained. Consequently the answer remains in level 2. 6/10



Sticky Note

Again there is a need for greater specificity.



Sticky Note

Sadly little specific information in this paragraph.



Sticky Note

Some good specific information in this paragraph.
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Sticky Note

First activity noted.
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Sticky Note

Some elaboration.



Sticky Note

Good understanding of affluence and supported by stats.
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Sticky Note

This paragraph is illustrative of an able pupil.



Sticky Note

Although not perfect - under exam conditions this is an excellent answer 10/10










Answer all questions.

SECTION A

In this section you may use information from the Resource Folder and your own research.

[0]2] Outline how human activities influence the demand for water. [10]
(approximately 13 minutes)

© WJEC CBAC Ltd. (1204-01)










Centre Number:
Candidate Number
19/06/2015

Geography Unit 4

Paper reference: 1204001

5-) Over the last century the percentage of the worlds population living in cities
has increased from just 5% in 1900 to over 50%. The process of urbanisation
(people moving from the rural settings in to urban areas) has been closely
linked with industrialisation and globalisation, has caused cities to expand at
an incredibly fast rate. Due to the greatly increasing number of people that
now reside within cities a huge amount of stress is put on transports links and
infrastructure; the features of which vary in different parts of the world. As a
result of globalisation and the emergence of Superpowers India and China, the
private car ownership rates have increased massively. This is the case is South
American and Eastern European cities also. In order to ease the massive
congestion that has become common place in the developed and developing

world, schemes have been put in place that encourage carbon nuetral forms of
7
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transportation such as walking, cycling or using low emission public transport.
In London, the low emmision zone is in place to deter excess traffic, and in
Copenhagen and Amsterdam, cycle paths have been created that span the city
to help ease traffic. Air pollution is also major issues for some cities such as
Mexico city and Quito. Both are very high altitutude and exhaust doesnt
combust properly, causing soot in the air. South America is currently seeing a
very large effort to reduce car usage and emmissions, with Curitiba in Brazil
being viewed as world leading in it's three tier buss system put in place by
Jorge Lerner, which means that all residencies are no more that 600 metres
from a bus stop and busses come every minute; Bogota in Colombia has since
put a similar scheme in place. The issue of cars in cities often comes as an
effect of the fact that towns were planned with car use in mind before the rate
of delpetion of fossil fuels and environmental effects were fully know. Now,
eco towns such as Whitehill Bordon and transition towns such as Tortnes in

Devon in th UK are making efforts using bottom up methos to reuce private

transport and increase green space instead.
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G4 2015 Assessment Objectives Grid

Question AOl1l AO2 AO3 Total
Knowledge & Application Skills
Understanding
1 4 3 3 10
(concepts of (interpreting & (analyse and
place, space and unfamiliar synthesise
diversity) context) geographical
information)
2 3 4 3 10
(select human (application in (carry out
processes unfamiliar research and use
underpinning contexts) of methods)
concepts,
examples)
3 3 3 4 10
(people- (analysis and (research and
environment unfamiliar communication)
interactions) contexts)
4 7 11 7 25
(extend (consider new (synthesise
geographical ideas and information,
ideas, concepts developments, reach
and processes) evaluation) conclusions, and
communicate
findings)
5 7 11 7 25
(extend (evaluation of (reach
geographical viewpoints, conclusions and
ideas, concepts extend communicate
and processes) geographical findings)
ideas, concepts
and processes)
Total 24 32 24 80
(30%) (40%) (30%) (100%)






25 mark questions

These questions will have a strong evaluative element. Some form of debate needs to be
engaged in to reach the two top levels. Some questions may have a command for
description or explanation in the early part of the wording. If only those parts are attempted,
answers can gain a maximum mark of the top of Level 3.

Level 5
(22 - 25 marks)

A range of evidence supporting more than one possible
conclusion will be clearly stated. There will be a good attempt to
weigh up the evidence. This may be by showing that one piece of
evidence carries more weight than others, or that there are far
more points in favour of one point of view than for any others.
These questions will often have a ‘how far’ or ‘to what extent’
element, and evidence given will be used deal with such aspects.
The structure of the answer will be evaluative throughout.
Conceptual understanding and specific knowledge will both be
very good. Answers will be well ordered and logical, with clear
expression in the chosen language.

Level 4
(17 - 21 marks)

A reasonable amount of evidence on both sides of the debate will
be presented here. There will be some attempt to weigh up the
evidence in order to show that it points more one way than the
other, or to try and assess ‘how far’. These will either be limited or
confined to just one or two sentences, or unbalanced, being too
sweeping for one side over others. All other aspects of the
answer expected up to Level 3 will be present. Conceptual
understanding or specific knowledge may be good, but not equally
strong on both. Answers will have only minor flaws in logical
ordering or linguistic expression.

Level 3
(10 - 16 marks)

These answers will have a good explanation. There will be some
attempt to show that there are arguments on both sides of the
case, but these will be few, scattered and in most instances, not
supported by any evidence. There may be some evidence of
conceptual understanding, and/or the odd piece of specific
knowledge. Structure and expression may have flaws.

Answers at this level will be mainly simple description or basic
explanation, with evidence of some of the comparable qualities

Level 2 expected at Level 2 for the 10 mark questions. Any attempt to
(5 - 9 marks) deal with the evaluative components will be brief, and either be
very simple, confined only to one side or have very little support.
There will be weaknesses of structure and expression.
Some relevant knowledge may be stated, but few points will have
Level 1 any element of ex_planati_on. Any evaluatioq will be a _simple_
(1 - 4 marks) statement of a point of view without any valid supporting evidence.

The structure may be muddled and expression weak or unclear.
Planning notes or fragments can be given a mark in this range.






Q.5

Describe transport problems that one or more cities face.
To what extent is it possible to find sustainable solutions to transport
problems in cities? [25]

Annotations specific to this question are:
Transport problems knowledge
Understanding of solutions

Evidence

Sustainability

Assessment

There will be little in the Resource Folder to help in answering this question, but if
any candidate can use information that has been presented, there is no penalty.
Answers dealing well only with details of transport problems with extensive exemplar
support can be credited up to the top of Level 3, but to reach Levels 4 and 5,
answers must present knowledge of solutions, and show either an appreciation of
sustainability or deal well with assessment or do both. Good answers will
demonstrate points of where it is possible and instances where problems seem
insurmountable. Good answers will make sustainability clear. The best answers may
address ‘to what extent’ by weighing the evidence through a number of routes; for
example, importance, long/short term impact, local/widespread or other measure of
significance. Candidates who do this are not required to make a stand, but
demonstrate that they can weigh one piece of evidence against another.

Level 5 Several problems associated with transport in cities will be described in

(22-25 marks) detail, either separately initially or introduced throughout. Different

solutions will be considered, with a good appreciation of different degrees
of sustainability. Extensive evidence will be provided in support. The
answer will be well structured and logical, and expressed in clear
language.

Level 4 Several problems associated with transport in cities will be suggested, but

(17-21 marks) some may lack detail, or may be unclear or rather brief. Some solutions

will be introduced, with some appreciation of sustainability. Some good
evidence will be given. The answer will be well ordered with good
expression.

Level 3 There will be some (or even many) suggestions about problems

(10-16 marks) associated with transport in cities but there will either be limited detail

about them, or if more detailed, then not addressing the assessment of
any solutions. There may be some discussion of solutions and
sustainability at the upper end of the range, with one or the other
neglected at the lower end, but such answers are likely to be weaker on
description and detail. A little evidence will be given. Minor flaws in
organisation and expression are likely.

Level 2 Suggestions made may be sketchy with very little detail to them. Solutions
(5-9 marks) will be simplistic. Evidence will be poorly linked to the answer. Frequent
problems with structure and expression will be present.
Level 1 Any suggestions made will be very generalised, lacking detail and/or
(1-4 marks) reasoning. Any attempts at assessment will be bald, unsupported

statements of 'they are/are not'. Poor or no evidence is given. The whole
answer will be poorly organised and with poor expression.

0 marks The answer is not worthy of credit.
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5-) Over the last century the percentage of the worlds population living in cities
has increased from just 5% in 1900 to over 50%. The process of urbanisation
(people moving from the rural settings in to urban areas) has been closely
linked with industrialisation and globalisation, has caused cities to expand at
an incredibly fast rate. Due to the greatly increasing number of people that
now reside within cities a huge amount of stress is put on transports links and
infrastructure; the features of which vary in different parts of the world. As a
result of globalisation and the emergence of Superpowers India and China, the
private car ownership rates have increased massively. This is the case is South
American and Eastern European cities also. In order to ease the massive
congestion that has become common place in the developed and developing

world, schemes have been put in place that encourage carbon nuetral forms of

7O




Sticky Note

A vague start with little specific information.
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transportation such as walking, cycling or g low emission public transport.
In London, the low emmision zone is in place to deter excess traffic, and in
Copenhagen and Amsterdam, cycle paths have been created that span the city
to help ease traffic. Air pollution is also major issues for some cities such as
Mexico city and Quito. Both are very high altitutude and exhaust doesnt
combust properly, causing soot in the air. South America is currently seeing a
very large effort to reduce car usage and emmissions, with Curitiba in Brazil
being viewed as world leading in it's three tier buss system put in place by
Jorge Lerner, which means that all residencies are no more that 600 metres
from a bus stop and busses come every minute;@ogota in Colombia has since
put a similar scheme in place. The issue of cars in cities often comes as an
effect of the fact that towns were planned with car use in mind before the rate
of delpetion of fossil fuels and environmental effects were fully know. Now,
eco towns such as Whitehill Bordon and transition towns such as Tortnes in

Devon in th UK are making efforts using bottom up methos to reuce private

transport and increase green space instead.
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Sticky Note

Brief details on solutions.



Sticky Note

Somewhat better.



Sticky Note

Knows of problems and solutions. But both lack depth. Level 3 10/25
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Sticky Note

Some specific information on the problems.



Sticky Note

Statistics would improve the problems noted.
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Sticky Note

Some assessment of the success of a scheme.



Sticky Note

Specific details on Curitiba.



Sticky Note

The answer shows an understanding of both problems and solutions. There is however room greater depth to the examples and a better assessment of 'how far'. A level 4 response. 17/25.
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Sticky Note

Specific problem.



Sticky Note

More problems.
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Sticky Note

Solution with good detail.



Sticky Note

Assessment of success.



Sticky Note

Specific detail with a measure of relative success.



Sticky Note

Another case study.
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Sticky Note

Although the problems could be better his is very good essay. The solutions are well developed and sustainability is addressed. There is enough here for a level 5 mark. 22/25 










SECTION B

In this section you may use information from any of your studies for AS and A2 Geography as well
as from the Resource Folder and your own research.

[0][5] Describe transport problems that one or more cities face.
To what extent is it possible to find sustainable solutions to transport problems in cities?
[25]
(approximately 33 minutes)
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